
JĘZYK ANGIELSKI - NR 2 - SEMESTR I P (AR) 

 

Imię i nazwisko: _________________________________ Liczba punktów: _____ / 23 pkt 

 

1. Poniższy dialog pomiędzy sprzedawcą a kupującym ma miejsce w sklepie odzieżowym. Proszę ułożyć 

zdania z podanych w nawiasach wyrazów. ( _____ / 9 pkt) 

 
SA: Good afternoon. _________________________________ ? (help / I / you / can) 

C: Good afternoon. Yes, please. ______________________________________ . (dress / for / I'm / elegant / party / a / 

looking / an) 

SA: ______________________________________ ? (like / colour / you / what / would)  

C: I don’t know. What colours have you got? 

SA: We have got all colours. _________________________________ ? (think / you / blue / what / of / do) I think it 

matches your eyes and your blonde hair! 

C: Ok. ______________________________________ ? (size / got / you / medium / it / have) 

SA: Yes, here you are. 

C: _________________________________ ? (it / on / I / can / try) 

SA: Of course. The changing room is over there. 

      ….    Does it fit?  

C: Yes, thank  you. It fits perfectly. _________________________________ ? (much / it / how / is) 

SA: It’s £55.00. 

C: I'll take it. ______________________________________ ? (only / card / in / or / can / by / pay / I / cash)   

SA: You can pay in cash and by card, too. 

C: Here is my card. 

SA: Thank you. _________________________________ ! (day / have / nice / a) 

C: Thank you, goodbye. 

 

2. Proszę wymienić po trzy produkty, które można kupić w każdym z podanych sklepów. ( _____ / 9 pkt) 

 

a)  The grocer’s  

b)  The newsagent’s  

c)  The shoe shop  

d)  The fishmonger’s  

e)  The butcher’s  

f)  The baker’s  

 

3. Proszę przeczytać tekst, a następnie wybrać właściwą odpowiedź, tak aby otrzymać logiczny i gramatycznie 

poprawny tekst. Proszę zakreślić odpowiednią literę. ( _____ / 5 pkt) 

 

A DELICIOUS RIDE 

  

Electric cars are becoming more and more popular 4.1. ________ drivers. Many people understand that normal cars 

pollute the environment so they turn to other options, such as electricity. 4.2. ________ scientists from England have a 

different kind of solution. T hey invented a car which runs on… chocolate! Yes, that’s true. The car 4.3. ________ 

chocolate bars as the source of power! And, what’s also interesting, its steering wheel 4.4. ________ from carrot pulp, 

so it’s super eco-friendly. The inventors of this chocolate-powered car employed a team of drivers who will drive it 

from England, across the Sahara, to Timbuktu. They don’t plan to mass produce the car, though. It was built to make 

people 4.5. ________ of the options and possibilities that technology offers, as far as the automotive industry is 

concerned. 

 

4.1.  4.2.  4.3.  4.4. 4.5. 

A. between  A. But  A. are using  A. was made A. afraid  

B. among  B. Because  B. had used  B. has made B. aware 

C. for  C. Instead of  C. uses  C. is making C. familiar 

 


